

Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1085003

Form ACO-1
August 2013
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15		
Name:			Spot Description:		
Address 1:			Sec.	TwpS. R	East _ West
Address 2:			F6	eet from North /	South Line of Section
City:	State: Z	ip:+	Fe	eet from East /	West Line of Section
Contact Person:			Footages Calculated from	Nearest Outside Section C	Corner:
Phone: ()			□ NE □ NW	V □SE □SW	
CONTRACTOR: License #			GPS Location: Lat:	, Long:	
Name:				(e.g. xx.xxxxx)	(e.gxxx.xxxxx)
Wellsite Geologist:			Datum: NAD27	NAD83 WGS84	
Purchaser:			County:		
Designate Type of Completion:			Lease Name:	W	ell #:
	e-Entry	Workover	Field Name:		
	_		Producing Formation:		
☐ Oil ☐ WSW ☐ D&A	☐ SWD	∐ SIOW ∏ SIGW	Elevation: Ground:	Kelly Bushing:	
	GSW	Temp. Abd.	Total Vertical Depth:	Plug Back Total D	epth:
CM (Coal Bed Methane)	dow	Temp. Abd.	Amount of Surface Pipe Se	et and Cemented at:	Feet
☐ Cathodic ☐ Other (Co	ore. Expl., etc.):		Multiple Stage Cementing	Collar Used? Yes	No
If Workover/Re-entry: Old Well I			If yes, show depth set:		
Operator:			If Alternate II completion, c	cement circulated from:	
Well Name:			feet depth to:	w/	sx cmt.
Original Comp. Date:					
Deepening Re-perf	J	ENHR Conv. to SWD	Drilling Fluid Managemer	nt Plan	
Plug Back	Conv. to G		(Data must be collected from to		
Commingled	Permit #		Chloride content:	ppm Fluid volume	: bbls
Dual Completion			Dewatering method used:_		
SWD			Location of fluid disposal if	hauled offsite:	
ENHR	Permit #:				
GSW	Permit #:		Operator Name:		
			Lease Name:		
Spud Date or Date R	eached TD	Completion Date or	Quarter Sec	TwpS. R	East West
Recompletion Date		Recompletion Date	County:	Permit #:	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY									
Confidentiality Requested									
Date:									
Confidential Release Date:									
Wireline Log Received									
Geologist Report Received									
UIC Distribution									
ALT I II III Approved by: Date:									

Page Two



Operator Name:				Lease I	Name: _			Well #:		
Sec Twp	S. R	East	West	County	:					
INSTRUCTIONS: Shopen and closed, flow and flow rates if gas to	ring and shut-in press o surface test, along v	ures, whet vith final c	ther shut-in pre hart(s). Attach	essure reac extra shee	hed stati t if more	c level, hydrosta space is neede	tic pressures, bod.	ottom hole temp	erature, fluid re	ecovery,
Final Radioactivity Lo files must be submitte						gs must be ema	liled to kcc-well-	ogs@kcc.ks.go	v. Digital electi	ronic log
Drill Stem Tests Taker (Attach Additional		Ye	es No			J	on (Top), Depth		Samp	
Samples Sent to Geo	logical Survey	Ye	es No		Nam	e		Тор	Datum	1
Cores Taken Electric Log Run		☐ Ye								
List All E. Logs Run:										
				RECORD	Ne					
	0: 11.1					ermediate, product		" 0 1	T 15	
Purpose of String	Size Hole Drilled		e Casing (In O.D.)	Weig Lbs.		Setting Depth	Type of Cement	# Sacks Used	Type and Pe Additive	
			ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD				
Purpose:	Depth Top Bottom	Туре	of Cement	# Sacks	Used		Type and	Percent Additives		
Perforate Protect Casing	Top Detterm									
Plug Back TD Plug Off Zone										
1 lug 0 li 20 lio										
Did you perform a hydrau	ulic fracturing treatment of	on this well?	•			Yes	No (If No, s	kip questions 2 a	nd 3)	
Does the volume of the t			_		-		= ` `	kip question 3)		
Was the hydraulic fractur	ing treatment information	n submitted	to the chemical of	disclosure re	gistry?	Yes	No (If No, f	ill out Page Three	of the ACO-1)	
Shots Per Foot			D - Bridge Plug Each Interval Perf				cture, Shot, Ceme			Depth
						(_	
TUBING RECORD:	Size:	Set At:		Packer A		Liner Run:				
		0017111				[Yes N	0		
Date of First, Resumed	Production, SWD or EN	HR.	Producing Meth	nod:	g 🗌	Gas Lift (Other (Explain)			
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat	er B	bls.	Gas-Oil Ratio	Gra	avity
DIODOCITI	01.05.040			4ETUOD 05	001451	TION		DDODUCT	ONLINITED (A)	
DISPOSITION Solo	ON OF GAS: Used on Lease		N Open Hole	∥ETHOD OF ☐ Perf.			nmingled	PRODUCTION	ON INTERVAL:	
	bmit ACO-18.)		Other (Specify)		(Submit		mit ACO-4)			



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Val Energy, Inc. 200 W. Douglas STE #520

Wichita, KS 67202

INVOICE

Invoice Number: 131214

Invoice Date: May 15, 2012

Page: 1



9208-1

SURFACE CEMENT

Customer ID.	Well Name# or Gustomer P.O.	Raymen	t Terms
Val	Thalmann #1-19	Net 30	Days
Job Location	Gamp Location.	🚊 🖒 Service Date	Due Date
KS2-01	Medicine Lodge	May 15, 2012	6/14/12

Quantity	i ltem	Description	Unit Přice	" Amount
111.00	MAT	Class A Common	16.25	1,803.75
74.00	MAT	Pozmix	8.50	629.00
4.00	MAT	Gel	21.25	85.00
7.00	MAT	Chloride	58.20	407.40
199.00	SER	Handling	2.10	417.90
50.00	SER	Ton Miles	19.51	975.25
1.00	SER	Surface	1,125.00	1,125.00
50.00	SER	Heavy Vehicle Mileage	7.00	350.00
50.00	SER	Light Vehicle Mileage	4.00	200.00
1.00	EQP	8 5/8 Wooden Plug	92.00	92.00
1.00	CEMENTER	David Felio RECEIV	R D	
1.00	EQUIP OPER	Detek Gibbons		
1.00	OPER ASSIST	Brandon Boor MAY 2 9 201	2	·
ALL DRIGES AS	SEASET DAYARI	Subtotal		6,085.30

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1217.06

ONLY IF PAID ON OR BEFORE
Jun 9, 2012

Subtotal	6,085.30
Sales Tax	220.25
Total Invoice Amount	6,305.55
Payment/Credit Applied	
TOTAL	6,305.55

ALLIED CEMENTING CO., LLC. 038058 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: Medicine loge (C)
SEC. TWP. RANGE CA	ALLED OUT ON LOCATION JOB START JOB FINISH
	COUNTY STATE
LEASEThalmong WELL# /-/9 LOCATION Howay	C) ups, Arelington Rd, Rono KS
OLD OR NEW (Circle one) 100,5, E then S	Son Willson 25, 14w, 5pmps
CONTRACTOR Ual \$3	OWNER Val Energy
HOLE SIZE 12/4 T.D. 225'	CEMENT
CASING SIZE 85/ 24/DEPTH 224'	AMOUNT ORDERED 1855 x 60:40:2% of
TUBING SIZE DEPTH	3%cc
DRILL PIPE DEPTH	
TOOL DEPTH	1.1 11. 1125 100278
PRES. MAX 250 MINIMUM — MEAS. LINE SHOE JOINT WA	COMMON CLSS 4 1115x@162 1803,75
MEAS. LINE SHOE JOINT N/4 CEMENT LEFT IN CSG. 20	POZMIX 745K @ 5.10 629.00 GEL 45K @ 21.00 85.00
PERFS.	GEL 45k@21.27 85.00 CHLORIDE 75x@58.00 407.40
DISPLACEMENT / 3 BG/s Fresh HD	ASC_ @
EQUIPMENT	@
EQUI WISKI	
PUMPTRUCK CEMENTER D. Folio	@
#471-302 HELPER D. Gibbons	@
BULK TRUCK	@
# 381-250 DRIVER B. BOOK	
BULK TRUCK	
# DRIVER	HANDLING 199 cu ft @ 2.10 417.90
	MILEAGE 50 · 8.3 +01 9.75, 21
REMARKS:	TOTAL 7318.3
C22 766 /200	SERVICE
366 300 CO 7	204/
Shutin/NO Dattle	DEPTH OF JOB 224
Coment Did like.	PUMP TRUCK CHARGE // 2 5 PT EXTRA FOOTAGE @
	MILEAGE 50 @ 350
	MANIFOLD head sental @ NC
	Light 50 @ Zoro
. 1 /	
CHARGE TO: Val Energy	
· //	
STREET	TOTAL <u>/6 757</u>
· //	
STREET	TOTAL <u>/6 75, ~</u>
STREET	TOTAL 16 75000
STREET	PLUG & FLOAT EQUIPMENT - Wolden Sunface Plos @ 9200
STREET STATE ZIP To Allied Cementing Co., LLC.	PLUG & FLOAT EQUIPMENT - Wolden Sinface Ploy @ 92 00 00 00 00 00 00 00 00 00 00 00 00 00
STREET	PLUG & FLOAT EQUIPMENT - Wolden Sinface Ploy @ 92 000000000000000000000000000000
STREET STATE ZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	PLUG & FLOAT EQUIPMENT - Wolden Sunface Plus @ 92 00 00 00 00 00 00 00 00 00 00 00 00 00
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	PLUG & FLOAT EQUIPMENT - Wolden Sinface Ploy @ 92 00 00 00 00 00 00 00 00 00 00 00 00 00
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	PLUG & FLOAT EQUIPMENT 1- Wood day Sinface Plos @ 92 00 00 00 00 00 00 00 00 00 00 00 00 00
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PLUG & FLOAT EQUIPMENT
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	TOTAL 16 75 20 TOTAL 16 75 20 TOTAL CHARGES 6 0 85 30
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	PLUG & FLOAT EQUIPMENT Wolden Sunface Plos @ 92 00 00 00 00 00 00 00 00 00 00 00 00 00



PAGE CUST NO INVOICE DATE 05/23/2012 1 of 1 1004409

INVOICE NUMBER

1718 - 9<u>091</u>2236

Pratt

(620) 672-1201

J LEASE NAME LOCATION

Thalmann

B VAL ENERGY

 $_{\scriptscriptstyle L}^{\scriptscriptstyle \rm I}$ 200 W DOUGLAS AVE STE 520 RECEI

Reno KS

_ WICHITA

KS US 67202 JOB CONTACT

2012 JOB DESCRIPTION Cement-New Well Casing/Pi

o ATTN:

ACCOUNTS PAYABLE

јов #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40466878	27463	9308			Net - 30 days	06/22/2012
		·	QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Dates	: 05/22/2012 to 05	5/22/2012				
0040466878						
171806230A Ceme	ent-New Well Casing/Pi C	05/22/2012				
Cement 5 1/2" Lon	gstring					
AA2 Cement			150.00	EA	13.60	2,040.00
60/40 POZ			50.00	EA	9.60	480.00
C-41P			36.00	EA	3.20	115.20
Salt			682.00	EA	0.40	272.80
C-44			141.00	EA	4.12	580.92
FLA-322			113.00	EA	6.00	678.00
Gilsonite			750.00	EA	0.54	402.00
"Top Rubber Cmt Pl	ug, 5 1/2"""		1.00	EA	84.00	84.
"Guide Shoe - Regul	ar. 5 1/2"" (Blue)"		1.00	EA	200.00	200.
Flapper Type Insert	Float Valves, 5 1/2"		1.00	EA	172.00	172.
"Turbolizer, 5 1/2""	(Blue)"		5.00	EΑ	88.00	440.
"5 1/2"" Basket (Blu	ıe)"		1.00	EΑ	232.00	232.
Super Flush II			500.00	EA	1.22	612.00
"Unit Mileage Chg (F	PU, cars one way)"		65.00	MI	3.40	221.0
Heavy Equipment M	ileage		130.00	MI	5,60	728.
"Proppant & Bulk De	el. Chgs., per ton mil		598.00	EA	1.28	765.4
Depth Charge; 4001	'-5000'		1.00	EA	2,016.00	
Blending & Mixing S	ervice Charge		200.00	BAG	1.12	224.
Plug Container Util.	Chg.		1.00	EA	200.00	200.
"Service Supervisor,	, first 8 hrs on loc.		1.00	EA	140.00	140.0
•						
				4.5		

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903

PO BOX 10460

SUB TOTAL

TAX

10,603.36

378,21

DALLAS, TX 75284-1903

MIDLAND, TX 79702

INVOICE TOTAL

10,981.57

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

1718 00230 A

	PRESSURE PU	MPING & WIRELINE		DATE TICKET NO							
DATE OF 5 22-13 DISTRICT PIATE						NEW OLD □ PROD □ INJ □ WDW □ CUSTOMER ORDER NO.:					
CUSTOMER \	Val E	rely4			LEASE Thalmann WELL NO.1-17						
ADDRESS					COUNTY	ler.	ي	STATE /	: 5		
CITY		STATE			SERVICE CF	REW (Nerdu.	Witche	11 Blasi		
AUTHORIZED B	ΒΥ				JOB TYPE:	CN	2-51	L.S.	,		
EQUIPMENT	r# HRS	EQUIPMENT#	HRS	EQU	JIPMENT#	HRS	TRUCK CALL	ED 5-00-5	THE CHAPTINE		
3)18	2 1						ARRIVED AT	JOB -	(ARP 7:00		
14836-148	1/2 1				 		START OPER	RATION	AM 2.15		
1 18 9.6 1 10							FINISH OPER	RATION	AM PM		
							RELEASED	<i>,</i>	(AM) J UU		
4				- '			MILES FROM	STATION TO W	ELL 65		
products, and/or sup become a part of th	pplies includes a	o execute this contract as ar all of and only those terms ar out the written consent of an	nd conditions appe	earing on	the front and back	k of this do	cument. No additi	onal or substitute te	ontractor or Agent)		
ITEM/PRICE REF. NO.		MATERIAL, EQUIPMEN	IT AND SERVIC	CES US	ED	UNIT	QUANTITY	UNIT PRICE	\$ AMOUNT		
CP105	AA?	(cment				5K	150+		255000		
CP103	601	40802				SK	501		60000		
CC105	5-1	1 b				1-6	36 1		14400		
CCIII	2017	<u>; </u>				Lb.	687		34100		
<u>CC115</u>	C - 19	302				<u>ط سا</u>	117		726 15		
C C () ()	1 - 1 +	100 x				1 5	700		50250		
CG103	C	, , , ,	EV/11		<u> </u>	1 6 M	1707		10500		
(E)51	120,9	4 51 06 6), ,\\.			les		-	35000		
CCHEL		7: 0	Sect Cla	w.t.v	-lue 51/1.	100			31500		
C 11651	\ \\	177 2055/60	7,, , , , , ,		100 3 71	P 9	5		55000		
C = 1901	BONGI	(et 50/2)				e a	1		29000		
CC 155	5000	TT 12120				(:\	500		76500		
EIUU	Pick	of Milonge				wi	105		27675		
ELOI	1/2~	· · · · · · · · · · · · · · · · · · ·	sind to	<i>مدر و</i>		1/1	130		91000		
E113	6211	willey I w	1	``	· 	11	538		95680		
(E 502	75e	Probaction Charge	HIDM	2,5)(50)(<i>e</i> ~	\		923000		
CE 2010	1310	Ent puls	1) 1111	1-1-	۹.	SN	900		28000		
CE 224	1,7	in Cartain				e ~			25000		
5003	40		101501			eh	1 .	SUB TOT.	AL 75 00		
CHE	EMICAL / ÁCID !	DATA:	4	_				Dr	5 70603.36		
					RVICE & EQUIF	PMENT		ON \$			
				LMA	TERIALS		%IAX	ON\$	A.		
			_					TOT	1L		
									1		

THE ABOVE MATERIAL AND SERVICE

REPRESENTATIVE 3

SERVICE

BASIC 10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124

FIELD SERVICE TICKET

DATE OF JOB		DISTRICT			NEW WELL	OLD	PROD INJ	□ wdw □ C	USTOMER RDER NO.:
CUSTOMER	1 1				LEASE \	ļ. i.	100 mg		WELL NO.
ADDRESS		· · · · · · · · · · · · · · · · · · ·			COUNTY			STATE	
CITY		STATE	-		SERVICE CF	REW :			3
AUTHORIZED B					JOB TYPE:				
EQUIPMENT		EQUIPMENT#	HRS	EQUI	IPMENT#	HRS	TRUCK CALL	FD DAT	E AM TIME
		La region a residence	4	oped.			ARRIVED AT		AM PM
		Alexander San	1 1	<u> </u>	¥ 44	Ť	START OPER	<u> </u>	AM PM
<u> </u>			-				FINISH OPER	RATION	AM PM
			+				RELEASED	-	AM PM
							MILES FROM	STATION TO WELL	
ITEM/PRICE	<u> </u>	MATERIAL, EQUIPMENT	AND SERV	/ICES USF		UNIT	(WELL OWNE	ER, OPERATOR, CONT	RACTOR OR AGENT)
REF. NO.		THE TOTAL CONTINUE OF	7112 0211					- I	25500
* * * * * * * * * * * * * * * * * * *					<u> </u>	3	, ,	-	6000
*						4.			144 00
A TOTAL STREET	1.1.5				· · · · · · · · · · · · · · · · · · ·	i i	1		34100
V V		* - 2 h - 4				4 1 .			73 4 14
									37.72
1	<u> </u>								107.60
		· · · · · · · · · · · · · · · · · · ·					1		3,000
	4	A A State and State	, 1	<u> </u>					310,00
			1	· ·					<u> 55000</u>
	<u> </u>						1		3400
	**************************************					<u> </u>	1		76500
	* 4				• • • • • • • • • • • • • • • • • • • •		1		9/3/0
3	The state of the s								95680
î	N	<u>.</u>						\$	94000
			<u>- </u>	·			1		38000
	The state of the s				<u> </u>			<u>l</u>	3 500
CHE	MICAL / ACID DA	ATA:	<u> </u>					SUB TOTAL	
]· ·	SER	VICE & EQUII	PMENT	%TA>	CON\$	

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY: **SERVICE** REPRESENTATIVE

TOTAL



TREATMENT REPORT

Customer	$\frac{8}{\sqrt{a}}$	0170		Lease No				Date			
Lease -T	halma			Well #	1-10		-	1	6. E	, ,	
Field Order #	# Station	· ()	11,		Casin	g Depti	MILOO	County _V	(C. 4 V) ()		State k
Type Job	CNU	•	511	L (s.		Formation)		Legal De		7-25-4
PIPI	E DATA	PE	RFORATI	NG DATA	FLUI	D USED		TRE	ATMENT	RESUME	
Casing Size	Tubing Size	ze Sho	ts/Ft	15 ozy	Aeid ((RATE PR	ESS	ISIP	
Depth///U	Depth	Fror	n	То	Dro Dod	26411	Мах			5 Min.	
Volume >	Volume	Fror	n	To '\\\	Pad	10000	Min			10 Min.	
Max Press	Max Pres			To	Frac).	36433	Avg			15 Min.	
Well Connection	on Annulus V	ol. Fror	n	То			HHP Use	d l		Annulus Pi	ressure
Plug Depth	Packer De	epth Fror	n	То	Flush 🧻	. 7	Gas Volur	ne		Total Load	
Customer Rep	oresentative	1.50		Statio	n Manager	50 50	. / /	Treater	31. J	1300	()
Service Units	· n.	3740		(. 1736	06						
Driver Names	62.70	1.1		3 23							
Time	Casing Pressure	Tubing Pressur		Pumped	Rate			Ser	vice Log		-
1001	7					120	000	1. C	200	JV 10	Variation .
		٠				Rus	9.	12 - 1	1,15	12 11 6	<u>) y </u>
·						Cons	, N. 14		<u>3 5 </u>	7-10	
						V) 3053	<u> </u>	. \ +1 1	~))		
17	<u> </u>					Car	<u>, () .</u>	<u>. Nsc</u>	1-1-6-14	Y 51 V	· (in wiR.
J. 14	250		1)	<u> </u>	Will	1061	ol Sul	<u> </u>	··· IT	
8 1.: C	250			5	<u> </u>	11) 4	J) (-	(" (
71.C)U(_;		1 2) (a	57	1.00	14.5	$V \in V_J$	$n \cdot \ell$	· vary har	0 13 3 1c
			<u> </u>			- Ju-1	Buch	•			f - 1 6
						<u> </u>	·	. C YE	<u>، سراييلي</u>	110 V	,
17:36	<u>Ø</u>			<u>()</u>		<u> </u>		<u> </u>	,	<u> </u>	<u>, </u>
64:C1	<u> 300</u>			<u>) U</u>		1 . \ 1	. 1	<u> </u>			· —
10 716	500			Ü	1)	- 1	1 W Car	. 1 - /	X ()		
2.52	Y500				1 /	1)/	<u> </u>	Own Co	11.	<u>0 </u>	
									-		
							· · · · · · · · · · · · · · · · · · ·	CAS OF IN	· · · · · · · · · · · · · · · · · · ·	<u> </u>	
								· \ W	1 1	· J 9	<u> </u>
			1			PN X	<i>J</i>)	ì		 	
1.1.2. C. XI			1	111		11100	1011	No. Ve	14) 14 i	<u> </u>	1 Winge
											
				-							
10044	NE Him	ov 61-	 > D O - B	V 9612	Drott Ke	S 67124-86	13 • (69)	n) 672 14	001 • Fa	v (620) e	79-5383

Conservation Division Finney State Office Building 130 S. Market, Rm. 2078 Wichita, KS 67202-3802



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Sam Brownback, Governor

Mark Sievers, Chairman Ward Loyd, Commissioner Thomas E. Wright, Commissioner

July 17, 2012

TODD ALLAM Val Energy, Inc. 200 W DOUGLAS AVE STE 520 WICHITA, KS 67202-3005

Re: ACO1 API 15-155-21589-00-00 THALMANN 1-19 NE/4 Sec.19-25S-04W Reno County, Kansas

Dear Production Department:

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, TODD ALLAM